+ 108& % i
FEE s R EBERLRA T ERE

g NS . [ s b
]'E”E%:E?BO 108# 2> f% ~ x4 B2 F &4 3

L2

£ sifjE
A g1
#* 2 37“?7&}%1%?’{
TRER 2@ R B
Mg <—>ﬂuw¢4;ﬁw

O* L F)RE IF/SE’*’H&%S{%\%{% BRERITAER BB AR FE Y 0 334
(—)*%’LE} f‘g-?Fm ;*‘ﬁ'{}m\\‘ ]‘7)["%.@?#@?,3.11;6

%

|
P

TRRESEN LR 2 B R R 1Y 2§ CRE - F s HaE
FOlZ g AR eps o WA T R AR T B R Rt 2 40 (20 4)

a2 _L«-

SN R SN S - L S L = A T N R
2RI o (154 )

i

CHRP EE AR R UM F R R

(15 4 )
o~ P ¥ R fpfe (TDD) 5 &= w&ﬁf" (PU) 24 & gt > s
R EEL RS AT F - R A M B R BN E R

£ 0 (20 &)

J=q

F (CeHsCoHs) 7 it iwsa & gm 4 = F ¢ % (CeHsCoHz) % & 5
2 frF BB B 5 500°C - # (v 4 5 1.013x10°Pa- T ¥ # K = 4.688x
1070 348 1 (& [ 354 0 £ 10 4)
L frpE > o F2 i F o
OFA$E e F2E0 8 4o r 10 R E Bz kEFT (3 425 )
Pl grpre 2 it 5 oo

Ao HS FHMEG AL el FiEd SO f Meina £l * HEAR
(S) 2 f fi-kzZT -t - Waer B2 &4 5 5 (40 mol% H,S, 60
mol% CH4) 2 100 mol% SO, > + BB I v 3 5 t82 % = 1 SO,/H,S v &
% 4> HOMH,S v e % 10 41 2 & 6400 kg/day 2. F i/t 0 33+ % (R
+ € :0=16;S=32) (& 42104 » £ 20 » )
O HS (3 CHy) %2 SO, 2 B wigfling o
@ HyS 2 SO, 2. i B i+ 5 o



